Algebra - Quadratic Formula

Q1

Solve the equation
22 +6x-95=0

Give your solutions correct to 3 significant figures.

[3]

Q2

Solve 3x2+7x—-13=0
Give your solutions correct to 2 decimal places.

[3]



Algebra - Quadratic Formula

Qi For ax +hbx+c =0
= —bh¥X/Lt*—4ac
Solve the equation A=t ST
2o
2x2+6x-95=0

Give your solutions correct to 3 significant figures.

o = —"é—t 62= 4 x 2 1(-95)
Zx2
x = —62%/7a¢
4
x = (=b+A4e) L. 2= (-¢-/FaC)
. 4- [3]
X = §.5§633C794 or x = —R.$8533L7499
¥ = S5.55 toe3sh or > = —B8SS ke 3 s.4.
Q2

Solve 3x2+7x-13=0
Give your solutions correct to 2 decimal places.

x = ~Tx[1*-443-1)
Z2x3
% = -7 * [205
G
x = (“7 +zos) o, ¢ = (-7 = fzo5)
A ¢
X = 122 be 24dp er > = =3.55 bt 2dp

[3]



